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QUESTION 1

Which three statements are true about TACACS+? (Choose three.) 

A. It is a Cisco proprietary protocol. 

B. It runs on TCP port 59. . 

C. Authentication and authorization are done at different stages. 

D. TACACS+ encrypts the entire body of the packet, but leaves a standard TACACS+ header. 

E. It is an industry standard protocol. 

F. TACACS+ encrypts both the entire body of the packet and the TACACS+ header. 

Correct Answer: ACD 

 

QUESTION 2

What is the minimum key size to enable SSH v2? 

A. 512 bits 

B. 768 bits 

C. 1024 bits 

D. 2048 bits 

Correct Answer: B 

 

QUESTION 3

Which three of these are good reasons to use summarization or route aggregation? (Choose three.) 

A. Aggregation reduces the amount of memory required to store the routing table. 

B. Summarization adds the amount of memory that is required to routes when calculating the routing paths. 

C. Summarization is used to minimize the exchange and processing of routing information. 

D. Aggregation eliminates routes to be installed on the routing table. 

E. Summarization optimizes the routing information advertisement during route redistribution. 

Correct Answer: ACE 

 

QUESTION 4
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Refer to the exhibit. R1 is configured as an eBGP neighbor to ISP-A and ISP-B. While the adjacency between R1 and
ISP-B is okay, R1 and ISP-A are not able to establish an adjacency. The ISP-A and ISP-B neighbor configurations on
R1 are nearly identical. 

What is the problem between R1 and ISP-A? 

A. R1 should be configured with the BGP AS 64750 

B. R1 is missing the next-hop-self option under the neighbor command for ISP-A 

C. R1 needs to add the ebgp-multihop option to the ISP-A neighbor command 

D. R1 should redistribute static routes into the BGP process 

Correct Answer: C 
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QUESTION 5

You are the network administrator of a large Layer 2 network. At certain times during the day, users complain that the
network is responding very slowly. When troubleshooting the issue, you notice the election of a new root bridge with an
unknown MAC address. Knowing that all access ports have the PortFast feature enabled, what should be done to
resolve the issue without losing redundant links? 

A. Enable bpduguard globally. 

B. Enable rootguard. 

C. Enable loopguard. 

D. Enable spanning tree. 

E. Enable UDLD. 

Correct Answer: A 
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